Connaître quelques vêtements.      Connaître les réponses courtes.                                                                                                                                  
U7 (année 2)- Is it your coat ?
Lesson 4

Exercise 1 : Write the sentences.

	?
	your
	Is
	skirt
	it



Is it your skirt ?

	it
	.
	Yes
	is
	,



Yes, it is.

	it’s
	it
	,
	No
	isn’t
	but
	jumper
	.
	his



No, it isn’t but it’s his jumper.

Exercise 2 : Listen the song and for each clothes, write question and short answer for the girl. 

[image: ]
Example : Is it her shirt ?
                 No, it isn’t.

Is it her blouse ?
No, it isn’t.

Is it her scarf ?
No, it isn’t.

Is it her jumper ?
No, it isn’t.

Is it her coat ?
Yes, it is.

Is it her pull over ?
No, it isn’t.

Is it her gloves ?
No, it isn’t.

Is it her skirt ?
Yes, it is.

Exercise 3 : Write the tongue twister.

Are her thirteen shirts better than one jumper ?














Exercise 4 : What does he/she wear ? 

[image: ]He wears a green coat.
He wears two brown boots.
He wears jeans.
He wears a red cap.
He wears a blue scarf and two green gloves.

[image: ]
She wears a blue blouse, a blue dress, 
white socks, brown shoes 
and a brown bag.




[image: ]He wears a grey jacket, a white shirt, 
a black tie, grey trousers, brown shoes 
and a black hat.




[image: ]She wears a pink pullover and blue tee-shirt.
She wears a blue skirt.
She wears two pink knots in the hair.
She wears two white socks and two pink shoes.
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